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14.02 Principles of Macroeconomics

Quiz # 2

April 15th 2010

1 Short Questions [30 points]
Please mark the right answer. Each of these is worth 6 points.
/
I. The present pattern of current account positjéns in the world cconomy consists of:

A low savings rate in the US, m
CCcONOMcs.

(by A low savings rate in China and other emerging countries, and large capital inflows into these

other rich countries, and large 4%:\1 inflows into these

cconomies. N\

{¢) A high savings t\(‘ in the U.S. and other rich countries, and large capital inflows into these
economies.

() A low savings rate in China and other emerging conntries. and large capital inflows into these

ceonomies, \

2. Suppose that the l-period nominal interest rate 7, is 10%. At date t the Net Present Value of a bond
that pays $110 at date t + 1 is

(a) $110. :
$100. = | (O 2,

—

(c) $121. CH[) ) m

(d) None of the above,

3. Consider the following situation. The l-month interest rate in Brazil is 11.1%. The 1-month interest
rate in the U.S. is 1%. The exchange rate between the real and the dollar is 10 reals per dollar. What

do the interest rates imply for the expected real/dollar exchange rate in one month?

{(a) 10 reals per dollar.

(1 + 11
/(_:_))/\muls o ([ i ‘()(J i [l t |l Te
St 9 reals per dollar. /E? Ql ’I\Ol < [{ ‘ ”

(d) 15 reals per dollar.
Ee = ” ( u
— | el

L 0



AT =@

4. Consider an economy where the nominal intvmst is zero and expected inflation is exogenously given at

a strictly positive value. In this ec unum\ J O

(a) the real interest rate is zero, and a fiscal contraction has no effect on the economy,
the real interest rate is strictly positive, and a fiscal contraction has a negative effect on output.

Oh 1¢ real interest rate is strictlv\éutive and a fiscal contraction has #"biggey negative effect on (M
output than in an economy x\]u e thy real interest mre is sgrictly prmrm- ﬁ(&l
€55 € ( TS

: i . Flor n{
( [ O (d) Yhe real interest rate is strictly “-1?1\(' aurl rdI(P( contraction has 'a sm.l?lm negative oﬂmt on

Th MJ’ output than in an economy where the real interest rate is sirietly positive.

3 -—
/ redl = i g
B ¢ Nglie

-

can {' prjm“ the Open Economy Goods™ Market model, an increase in government expenditures

g W@ “ { {& ) shifts the NX (net exports) and ZZ {demand for domestic goods) curves upwards, and the clfect

ot exports is ambiguous,
L ({ LUM on net exports is ambiguous JC‘O" “. T}\ML

éof '{' 0 ifts the NX curve dowpivard, the ZZ curve upward. and the effect on net (\pm ts is ambiguous,
C‘/Q Al '

sard and decreases net exports, 0Pp06@+ o I Mb‘g 0/9

shifts the ZZ and NX curves upward.
- ( 227 WX
9"} haw I\/ﬁ . ho W el W - fotg gl
&06.9 f%(d,[? Open Economy Goods l\/Iarkets [30 points] Wf’[e‘f“* G o
&P

(@{ﬁl'/dbf 'M 1. Consider a country with zv\d;.mvv rate where output has fallen from Y7 to Yy, and net exports
‘——n_‘_‘_-_-

shifts the ZZ curve

. g —r
\ F are equal to zero. Show graphically in the Open Economy Goods Markets without Financial Markets
{th ‘? which combination of palicies is capable of bringing ontpnt back to Y;. keeping ucet_t_‘ﬁ)\_m‘tﬁ equal to
[N
-{'hl(, zero. Clarity why you need two policy instruments. [6 points] @C ’0590! :
—_— Clon
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3. Consider now an Open Economy with af fixedexchange rate.

Jalled aber Lu} el

(a) An increase in consumer confﬁcnco under a fixed exchange rate. [6 points]
\-_-_-_.’.-—--—‘\

~Thiak gt all ﬁt Ieueof
(T i ogue 7 duwad T 0%y

Gare as (1 ,
v

(b) A recession in the rest of the world under a h\ul c\clmnge rate. [6 points]
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2. Using the Open Economy Goods’ Market Model with Financial Markets (Mundell-Fleming), show,
using the IS-LM diagram and the Interest Parity Relation diagram, show the effects on the economy

of the following shocks.

{a) An expansionary yfonetary policy under a @)Ec exchange rate. [6 points]

~

N 4
| / %ﬁ ,!.n, [ 4 Lﬂu‘f fﬁ/ﬁul({

(b) An expansionary(fiscalpolicy under a flexible exchange rate. [6 points]
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3 International Policy Coordination [40 points]

The world is composed of two countries whose economies are well described by the following model. Country
1

C=cy+0cY

T=0
I1=0
IM =msY
x=Zyr

Country 2:

=0

[*=0
IM"=Zy*
At =msY

o
where ¢y, ej. m are strictly smaller that l@rictly positive, and T' = 1" = 0. Assume th@

Notice that autonomons consumption g is thesfine in both countries.
\

1. @ the model, i.e. express both Y and Y* as a function of the parameters of the model, G and G*.
[TO points] |
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2. Suppose they decide that the government of each country.will spend the right amount in order bring

output back where it was before the erisis, i.e. reac =3¥P By how much do governments

have to increase expenditures? Denote the changes in spending as AG and AG*. Express them as a

e o\, Al overnyman g sl iy Sl s peoesions 10 ol
Y=y,
+6 F omyY =i +6¢me - )f,
Z“C,%m Z-C{ﬁ +m
" how dhes s holf
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3. Suppose, only for the purpose of this subquestion, that country 2 cannot increase government spending
G*. Thus, AG* = 0. However. given the eepnomic emergency, they are able to convinee the government
of country 1 to further inerease G bt AG.

will be equal to AG plus AG. where 2

Yhus, the total change in government spending in country 1
G is the value that you computed in the previous subquestion.
In theory, this should benefit country 2 through trade linkages. How large does AG need to be in
order for output in country 2. Y*, rise back to the itial level Y3? Is this amount smaller or bigger

than AG®, the amount spent by country 2, in the previous question? Provide both an intuitive and a

mathematical argument. [10 points]
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4. Suppose now that consumption in country 1 is such that ¢; > ¢j. Both countries want to reach their
original levels of output, ¥7 and Y}*. Notice that now Y; and Y} are ditferent. Does one conntry end
up spending more than the other, or do both countries spend the same amount? Provide an intuitive

and a mathematical argument. [10 points]
\
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14.02 Principles of Macroeconomics
Spring 2009

Quiz 3 Solutions

1 Multiple Choice Questions (30 points)

(
1. If the Fisiés'(ﬁ}pgp}lreﬁﬁ ‘fbeg'ue, monetary policy with respect to output:

a. does not have an effect in the short run, but has an effect in the medium
run.

1as an effect in the short run, but hoes not have an effect in the medium

run.

c¢. has an effect in both the short and medium run.

2. In an IS-LM model. a decrease in the ¢:{;%ect-ed future real interest rate

@. does not affect either curve.

!

( 4rg¢s //‘4:/(&7’—/34/

b shifts both IS and LM curves upward. )
hlits IS curve upwar d. does not affect LM curve.

3. Higher expected inflation n the US will lead to

@a depreciation of the US dollar vis-a-vis foreign currencies.
. an appreciation of the US dollar vis-a-vis foreign currencies.

c. does not affect the exchange rates of the US dollar.
/

i ¢ o N
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4. Consider an open economy with flexible exchange rates and in which the
Marshall-Lerner condition holds. Suppose output is at the natural level,
but there is a trade surplus. The appropriate fiscal-monetary policy mix
(to achieve trade balan e and 1 ;atul al output 1é

@a fiscal expansion ancl a monetary contr ction
b. a fiscal contraction and a monetary coentraction.
c. a fiscal expansion and ? 1onetar} e\pamlon
Prpand - oolp B B i 6

5. The US is lunmno a current account deficit against the rest of the world

(ROW), therefore

72 YROW holding of US assets is increasing less_than the US holding of
ROW assets. g

@ ROW holding of US assets is increasing more than the US holding of
ROW assets.

c. both can happen. Q@dﬁl '[C//\l(j 62061 f !
‘Q%i _}00 [[cw#



2 Stock Market and Monetary Policy (35 points)

Consider the following dynamic economy’:, For each t > 0.
iﬂg md{t{b [

@ = Cip1 + Lt
1 = CYin

It+1 = a-— bit

Ae N .

Pt—;: = Y —diy
M = M

Suppose price level remains at P = 1 in every period. The parameters a, b, ¢,d. M >
0 satisty

U = g2l

a > (l—-c)M

0. Preliminary (3 points) Suppose M = M in every period. solve for the
equilibirum level of output and interest rate in each period.
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1. (4 points) Assume the stock market expects that M, = M for all ¢ > 0,
calculate the nominal value of the stock market at time ¢ = 0.

T not &

)

2. (9 points) Suppose that at time ¢ = 1, the Fed decides to expand the money
supply over one period by AM (assume AM is much smaller than A{).
What 1s the value of stock market at time 17 Shiow that the value of stock
market increases from t = 0 tot = 1.
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3. (9 points) Suppose that the one time increase in money supply is expected
by the financial market at time ¢ = 0. What is the new value of the stock
market at time ¢ = 07 How does that value compare with the old value of
the stock market in the Question 17 How does that value compare with
the new value of the stock market in Question 27

ane

4. points) Suppose that the Fed decides to keep the output constant by adjust-
ing the supply of money (AM). What is the new level of money supply?
What is the value of the stock market at time 17 How does that value
compare with the value of the stock market at time 07

ey



5. (9 points) Suppose that the Fed decides to keep the interest rate constant.
What is the new level of money supply (AM)? What is the value of the
stock market at time 17 How does that value compare with the value of
the stock market at time 07

i



3 Open Economy (35 points)

Consider a world economy with only two countries. The home country is char-
acterized by:

C = co+ac1Y
r = CQY
IM
—_— = mY
€
K o= o
€

where C.Y.V.I,IM , X, e denote aggregate consumption. domestic output, for-

eign output, investment, imports, exports and the real exchange rate. respec-

tively. Assume ¢g > 0.0 < ¢ < 1.¢ >0 0<m<l,1+m>c1+e,0<e <.
The foreign country is characterized b

==
C = ¢+6Y

[ = &Y

IM »-

- = WY

. Y

'Y - e

€

Assume that parameters in the foreign economy satisty assumptions analog to
the ones for the domestic economy.

We will assume throughout the question that the real exchange mte@s
exogenously given.
~ Demote-by G the amount of Government spending in the home countl y

a
by G the amount of Government spending in the foreign country. Utl F}/m,?' e/

1. (6 points) Find the equilibrium level of output in the clomebtlc goods q/.@f,e({

market as a function of @ and parameters. Find the multiplier (denote
it by ). Find equilibrium in foreign goods market as a function of é. &y
and parameters. Find the multiplier in the foreign country (denote it by

W ety ober ted
Y= CtTH4¢ ".J:;ﬁ t X
k

GraY g y—m XY
e

ve .
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2. (3 points) Does the Marshall Lerner condition hold under our assump-
tions? Show why or why not.

\[/95 (we o $6m ;f ﬂlwrs }1/({0/
go hﬁ éﬂ}:y\ ﬂln N)CJ/ [fm@{ ){0)

:‘ Lx/l'\ﬂ/]l' @fye '{'a 9011 - m .HMj ggn{/'ﬁu«? /
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e
Vet e o e b In Ta feco/ O (afe %752“
3. (3 points) State a condition relating e and é. /%"

éf«%é i



w5t ¢

4. (6 points) Solve for domestic output as a function of €, G, G and parame-
ters (co. Co, 2, &, M, M). Assume MaMi < 1.

H@f[’, ﬁ@y WMI’ \/W ﬁ) 2l (o —“E,é
X M (o %M +6)

&
V’(Cg ? MT?\/E'LC/M /Z}f? [.améo
< Mg(C + X ﬁ%xyéf( (¢ b €
( "g ¢ 27 i Uxoﬂ(a-
5. (6 points) Suppose that the home country has decided to devote 1 1ts ‘1/6

of the local good to boost the economy (increase home output). The 7

Secreaty of the Treasury has proposed to use the resources to increase i /
public spending (AG = 100). Can the home country be better off by s 5[’711‘0
giving away the 100 units of the local good to the Foreign government on ’Df 0 !)
the condition that the goods are tully used for Foreign public spending

(AG)? If so. state a precise mathematical condition that guarantees yvour

answer. If not, show why.

}/VQ/P@“U O dnm }/'cw( r;f/“@ /70{‘5{/ fofefgn ﬂma{;
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OnL, X W AC (omes bac pffet on Hw oMt
é tgo COmie fo /! v X06 o 00 ﬁ/ﬂ/’%fy

x b7
d %L Mm@l hat 7

6. (5 pomts) Write a condition relating M and X and a condition relat-
ing IM and X. Show that each condition i imposes a restriction on the

parameters.






7. Consider the following quotes by a tamous economist:

(a) "In an environment where the dollar has already appreciated against
the Euro and even more significantly against emerging markets cur-
rencies, fiscal stimulus here will produce an even larger current ac-
count deficit. How long will it take before politicians complain about
the leakeage through the trade account and the 'gift to foreigners’ that
this represents?’

(3 points) What does he mean by leakeage and ’gift to foreigners’?

Wmﬂ M%VL qu,c go:nj 71» ask
DQH fat gy fo e fe(ﬂaéd/[ T/

| (on o
Bin £ V5 domad  age”
éavwz, (oca,{ Qﬂcl gine é}i\e(g/l \ jc{ﬂ(
( ]Qétl!\a\q@ /@‘ﬁ

"The way out of this dilemma is to get the rest of the world to engage
in fiscal expansion at the same time. so that the gift is returned.
(3 points) Explain.
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